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1.  1=�W�A�=��HC-���182�
=��N2	�

8�����
�(L����1��80���
���,�
I-�&j2'#$%L,��������/�28�	�������� �#�
       
#��/���: 8�(��� 
!"#��/1?#'^��/�A :��2J#'���'�
,���
�J�#�A �"�2	�
&c ?.^. 2530 �
2548 80��2� 4,125 ��' ?���9	:/�2�'	�
#$%:$��������	�
��
�������������'	�
���' 1 5$%R('
S:	
0��6
V6
��� !"R
�
����
�"R���^$� " 80��2� 697 
� 
J(L&[����'�" 16.9 8����7�#0����
�(
L����LW?�"I-�&j2'#$%:$
2�:��:?��@A,����S��1��#$% 1 /�:L�!}A#$%�0���( S(���9	:/�2�'	�
#$%:$���
�����	�
��
������������ 1, 2, 3 1�" 4 5$% 80��2� 34, 21, 6 1�" 1 
�/�:�0�(�� �2: 62 
�
R(':$��'9LW�$%'.���9	:#$%:$�����
���,�
�������L#	���� 18 &c 1 L(���  L&[�L?^M�' 25 
� (��'9
LW�$%' 16 &c 8 L(���) 1�"�YJ
 37 
� (��'9LW�$%' 19 &c 1 L(���) 8����7��9	:
�(L����I-�&j2'#$%:$
2�:
��:?��@A,����S��1��#$% 1 1/	S:	:$�����
���,�
�������80��2� 25 
� L&[���9	:L&�$'�L#$'�
(��'9LW�$%' 17 &c 5 L(���)  56%
&�"���(�2' L?^M�' 6 
� (��'9LW�$%' 16 &c 6 L(���) 1�"L?^�YJ
 19

� (��'9LW�$%' 17 &c 9 L(���) (�
��'�"L�$'(.�/���
#$% 2  R('?�2	����/�(5$%,��
(���,2�1�"(���
5��':$
2�:V$%,�
�����
���:��#$%�9( 
�� ���'�" 34.69 1�" 33.67 /�:�0�(�� ��
�
:� 
�� ���
/�(5$%���
(���,2� ���L,$7'2(���,2� ���/�(5$%���
1�"���L,$7'2(���5��' /�:�0�(�� (�
/���
#$% 3
1�"?�2	����'�" 57.14 (12 
�) .���9	:#$%:$�����
��� 2 5$% :$�����
���,�
���/�(5$%,��
5��'
,2��	2:��� (�
1I�b-:J1#	
#$%1�(
.��-&#$% 6

/���
#$% 2    1�(
��'9LW�$%',�
��9	:/�2�'	�
#$%.M�.����^6� ��$7

80��2�5$%���#$%
��
��� (5$%)

80��2�/�2�'	�
 (
�) ��'9LW�$%'

��9	:L&�$'�L#$'� 0 25 17 &c 5 L(���

1 34   (54.84%) 17 &c 3 L(���
2 21   (33.87%) 18 &c 1 L(���
3 6    (9.68%) 21 &c 8 L(���

��9	:#$%:$��������	�
��
���
���������

4 1    (1.61%) 23 &c 10 L(���
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/���
#$% 3    1�(

2�:V$% (5$%) 1�"L&��AL5U�/A
2�:M9�,�
5$%���#$%:$�����
���.�1/	�"��9	:

80��2�5$%���#$%
��
���

5$% 13 5$% 12 5$% 11 5$% 21 5$% 22 5$% 23

1 5$%
(34 
�)

1
(2.9%)

13
(38.2%)

6
(17.6%)

0
(0%)

13
(38.2%)

1
(2.9%)

2 5$%
(21 
�)

3
(14.3%)

15
(71.4%)

3
(14.3%)

2
(9.5%)

16
(76.2%)

3
(14.3%)

3 5$%
(6 
�)

3
(50%)

5
(83.3%)

5
(83.3%)

2
(33.3%)

3
(50%)

0
(0%)

4 5$%
(1 
�)

0
(0%)

1
(100%)

1
(100%)

1
(100%)

1
(100%)

0
(0%)

�2:
(62 
�)

7
(7.14%)

34
(34.69%)

15
(15.30%)

5
(5.10%)

33
(33.67%)

4
(4.08%)

     

�-&#$% 6 1I�b-:J1�(
���'�",�

-	���#$%:$��������	�
��
������������ 2 5$%
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#0�����9	:/�2�'	�
 25 ��' L?�%�#(���
2�:�	�LM�%�V��,�
,��:-�(�2'���2�(570�R('I-�
/�28L?$'

�L($'2 1�".M� 95% limits of agreement54 #(��� ?�2	����'�" 96-100 ,�

	�#�7
�:(
�'-	.�M	2
 95% limits of agreement 86
V��2	�,��:-�#$%.M�.����#(���:$
2�:�	�LM�%�V���'-	.�L�!}A
#$%'�:���S(�

2. 4�	�)
�
2	�-���	N8 )1A
=�)C
�	�K	>
=�3�)1A)��(�	1��./�
A0�2	��182�
=��N2	��>V0Z+�
)1A�>V*	N

L:�%�L&�$'�L#$'�
2�:1/�/	�
�"�2	�
��9	:/�2�'	�
L?^M�'1�"L?^�YJ
R('�2:R('
.M��VJ/J t-test ���� Mann-Whitney U test #(��� (/���
#$% 4-8)  ?�2	�S:	:$
2�:1/�/	�
,�

/�21&�/	�
X�'	�
:$��'�0�
�Y#�
�VJ/J 1/	L:�%�L&�$'�L#$'�
2�:1/�/	�
�"�2	�
L?^R('1�	
/�:
��9	:#$%:$1�"S:	:$�����
���,�
������� ?�2	�
2�:�2��
,�
,����S�����	2����� (AAW)
,�
L?^M�'.���9	:#$%:$�����
���,�
�������:���2	�.�L?^�YJ
�'	�
:$��'�0�
�Y#�
�VJ/J#$%    
p-value < 0.05 (/���
#$% 5) 86
#0����#(���
2�:1/�/	�
,�
/�21&�/	�
X �"�2	�
��9	:#$%:$1�"
S:	:$�����
���,�
�������.���2,��/	�S& 1'�/�:L?^

/���
#$% 4   /���
L&�$'�L#$'�
	�LW�$%' ± �	2�L�$%'
L��:�/�e�� 1�"?J��',�
��'9�"�2	�
��9	:-
/�2�'	�
L?^�YJ
1�"L?^M�' R('1�	
/�:��9	:#$%:$1�"S:	:$�����
���,�
�������

��9	:
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
L?^�YJ

(n = 56 
�)

L?^M�'
( n = 31 
�)

p-value

��
���
18.07±5.01
(10.92 , 35.92)

19.03±5.04
(11.67 , 35.92)

16.64±4.70
(10.92 , 31.50)

0.063a

S:	��
���
17.42±4.92
(11.50 , 33.08)

17.71±5.49
(11.50 , 33.08)

16.52±2.48
(14.00 , 20.17)

0.775b

��'9 (&c)

�2:
17.88±4.56
(10.92 , 35.92)

18.58±5.19
(11.50 , 35.92)

16.62±4.33
(10.92 , 31.50)

0.064a

  ��9	:#$%:$�����
���,�
������� (n = 62) : �YJ
 37 
� M�' 25 
�
 ��9	:#$%S:	:$�����
���,�
������� (n = 25) : �YJ
 19 
� M�' 6 
�
 a  
�� 
	��VJ/J#(���8�� t-test (2-tailed)�"�2	�
��9	:/�2�'	�
L?^�YJ
1�"L?^M�'
 b  
�� 
	��VJ/J#(���8�� Mann-Whitney U test (2-tailed)�"�2	�
L?^�YJ
1�"L?^M�'



26

/���
#$% 5 /���
L&�$'�L#$'�
	�LW�$%' ± �	2�L�$%'
L��:�/�e�� 1�"?J��',�

2�:�2��
,�
,�
���S�����	2����� (AAW) 
2�:�-
,�
,����S���� (AH) 1�"
2�:'�2,�
,�
���S��������/	�������:1#�5$%#$% 1 (arch perimeter) �"�2	�
��9	:/�2�'	�
       L?^
�YJ
1�"L?^M�' R('1�	
/�:��9	:#$%:$1�"S:	:$�����
���,�
�������

��9	:
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
L?^�YJ

(n = 56 
�)

L?^M�'
( n = 31 
�)

p-valuea

��
���
35.29±2.71
(27.05 , 40.64)

34.66±2.90
(27.05 , 40.64)

36.23±2.14
(31.45 , 40.64)

0.017*

S:	��
���
35.86±2.36
(29.62 , 40.20)

36.16±2.07
(32.91 , 40.20)

34.91±3.15
(29.62 , 38.81)

0.394

AAW
(mm.)

�2:
35.64±2.62
(27.05 , 40.64)

35.17±2.72
(27.05 , 40.64)

35.98±2.37
(29.62 , 40.64)

0.153

��
���
17.19±2.19
(12.29 , 22.24)

16.83±1.65
(12.60 , 20.59)

17.72±2.76
(12.29 , 22.24)

0.160

S:	��
���
18.80±1.89
(15.62 , 22.23)

18.77±1.73
(16.28 , 22.18)

18.89±2.51
(15.62 , 22.23)

0.915

AH
(mm.)

�2:
17.65±2.22
(12.29 , 22.24)

17.49±1.90
(12.60 , 22.18)

17.94±2.72
(12.29 , 22.24)

0.414

��
���
71.58±4.58
(55.96 , 81.98)

70.74±4.03
(61.66 , 77.47)

72.82±5.12
(55.96 , 81.98)

0.096

S:	��
���
75.84±5.24
(59.76 , 84.09)

75.74±3.96
(67.97 , 82.73)

76.15±8.69
(95.76 , 84.09)

0.916

arch
perimeter
(mm.)

�2:
72.80±5.13
(55.96 , 84.09)

72.44±4.63
(61.66 , 82.73)

73.46±5.94
(55.96 , 84.09)

0.411

��9	:#$%:$�����
���,�
������� (n = 62) : �YJ
 37 
� M�' 25 
�
��9	:#$%S:	:$�����
���,�
������� (n = 25) : �YJ
 19 
� M�' 6 
�
a  
�� 
	��VJ/J#(���8�� t-test (2-tailed) �"�2	�
��9	:/�2�'	�
L?^�YJ
1�"L?^M�'
* :$
2�:1/�/	�
�"�2	�
L?^�YJ
1�"L?^M�'�'	�
:$��'�0�
�Y #$% p-value <0.05
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/���
#$% 6   /���
L&�$'�L#$'�
	�LW�$%' ± �	2�L�$%'
L��:�/�e�� 1�"?J��',�
��(�	2�,��(���
���� (anterior ratio) 1�"���,�(L��7�#$%.�,����S�� (TSALD) �"�2	�
��9	:/�2�'	�

L?^�YJ
1�"L?^M�' R('1�	
/�:��9	:#$%:$1�"S:	:$�����
���,�
�������

��9	:
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
L?^�YJ

(n = 56 
�)

L?^M�'
( n = 31 
�)

p-value

��
���
78.65±2.57
(72.55 , 84.36)

78.47±2.85
(72.55 , 84.36)

78.91±2.12
(74.02 , 83.53)

0.483a

S:	��
���
77.81±1.98
(73.59 , 81.28)

78.17±1.78
(74.80 , 81.28)

76.66±2.33
(73.59 , 79.30)

0.188a

anterior
ratio

�2:
78.40±.244
(72.55 , 84.36)

78.36±2.52
(72.55 , 84.36)

78.48±2.31
(73.59 , 83.53)

0.836a

��
���
-7.30±5.14
(-20.60 , 5.14)

-7.36±5.79
(-18.16 , 5.14)

-7.22±4.09
(-20.60 , -0.69)

0.915a

S:	��
���
-3.94±5.34
(-20.65 , 4.24)

-3.06±3.79
(-9.21 , 4.24)

-6.74±8.54
(-20.65 , 0.19)

0.849 b

TSALD
(mm.)

�2:
-6.34±5.39
(-20.65 , 5.14)

-5.90±5.56
(-18.16 , 5.14)

-7.13±5.06
(-20.65 , 0.19)

0.297a

��9	:#$%:$�����
���,�
������� (n = 62) : �YJ
 37 
� M�' 25 
�
��9	:#$%S:	:$�����
���,�
������� (n = 25) : �YJ
 19 
� M�' 6 
�
a  
�� 
	��VJ/J#(���8�� t-test (2-tailed)�"�2	�
��9	:/�2�'	�
L?^�YJ
1�"L?^M�'
b  
�� 
	��VJ/J#(���8�� Mann-Whitney U test (2-tailed) �"�2	�
L?^�YJ
1�"L?^M�'
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/���
#$% 7         /���
L&�$'�L#$'�
	�LW�$%'   ±   �	2�L�$%'
L��:�/�e��  1�"?J��',�
�"'" A-Nperp
�"'"  Pg-Nperp   1�":9:  ANB  �"�2	�
��9	:/�2�'	�
L?^�YJ
1�"L?^M�' R('1�	

/�:��9	:#$%:$1�"S:	:$�����
���,�
�������

��9	:
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
L?^�YJ

(n = 56 
�)

L?^M�'
( n = 31 
�)

p-value

��
���
1.36±3.48

(-5.28 , 10.38)
1.92±3.46

(-4.13 , 10.38)
0.52±3.41
(-5.28 , 7.40)

0.121a

S:	��
���
1.40±2.69
(-6.04 , 6.09)

1.65±2.47
(-2.58 , 6.09)

0.61±3.46
(-6.04 , 3.35)

0.873 b

A-Nperp
(mm.)

�2:
1.37±3.26

(-6.04 , 10.38)
1.83±3.14

(-4.13 , 10.38)
0.54±3.36
(-6.04 , 7.40)

0.085a

��
���
-1.89±7.17

(-17.19 , 20.37)
-1.02±7.30

(-10.75 , 20.37)
-3.17±6.92

(-17.19 , 10.19)
0.246a

S:	��
���
-0.70±4.92
(-11.79 , 7.98)

-0.34±4.51
(-9.64 , 7.98)

-1.82±6.38
(-11.79 , 4.65)

0.615a

Pg-Nperp
(mm.)

�2:
-1.55±6.60

(-17.19 , 20.73)
-0.79±6.45

(-10.75 , 20.37)
-2.91±6.73

(-17.19 , 10.19)
0.159a

��
���
2.52±1.48
(0.00 , 5.00)

2.64±1.44
(0.00 , 5.00)

2.34±1.55
(0.00 , 5.00)

0.452a

S:	��
���
2.52±1.19
(1.00 , 5.00)

2.53±1.23
(1.00 , 4.00)

2.50±1.18
(1.00 , 5.00)

0.964a

ANB°

�2:
2.52±1.39
(0.00 , 5.00)

2.60±1.36
(0.00 , 5.00)

2.37±1.47
(0.00 , 5.00)

0.480a

��9	:#$%:$�����
���,�
������� (n = 62) : �YJ
 37 
� M�' 25 
�
��9	:#$%S:	:$�����
���,�
������� (n = 25) : �YJ
 19 
� M�' 6 
�
a  
�� 
	��VJ/J#(���8�� t-test (2-tailed) �"�2	�
��9	:/�2�'	�
L?^�YJ
1�"L?^M�'
b  
�� 
	��VJ/J#(���8�� Mann-Whitney U test (2-tailed) �"�2	�
��9	:L?^�YJ
1�"L?^M�'
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/���
#$% 8      /���
L&�$'�L#$'�
	�LW�$%'   ±   �	2�L�$%'
L��:�/�e��   1�"?J��',�
:9:   UI  -  PP
:9: LI-MP �"'" UI-NA 1�"�"'" LI-NB �"�2	�
��9	:/�2�'	�
L?^�YJ
1�"L?^M�'
R('1�	
/�:��9	:#$%:$1�"S:	:$�����
���,�
�������

��9	:
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
L?^�YJ

(n = 56 
�)

L?^M�'
( n = 31 
�)

p-valuea

��
���
119.79±5.99

(106.00 , 134.00)
120.30±5.44

(111.75 , 133.00)
119.03±6.77

(106.00 , 134.00)
0.437

S:	��
���
122.16±7.36

(107.50 , 133.00)
122.74±7.38

(110.00 , 133.00)
120.33±7.67

(107.50 , 130.00)
0.518

UI-PP°

�2:
120.47±6.46

(106.00 , 134.00)
121.13±6.21

(110.00 , 133.00)
119.28±6.84

(106.00 , 134.00)
0.218

��
���
94.58±6.08

(75.00 , 109.00)
93.82±6.45
(75.00 , 105.5)

95.71±5.42
(86.00 , 109.00)

0.217

S:	��
���
96.92±6.38

(83.50 , 112.00)
97.47±6.90

(83.50 , 112.00)
95.17±4.34

(90.00 , 100.50)
0.349

LI-MP °

�2:
95.25±6.22

(75.00 , 112.00)
95.06±6.77

(75.00 , 112.00)
95.61±5.16

(86.00 , 109.00)
0.674

��
���
6.30±2.90

(-0.63 , 14.68)
6.44±2.77

(-0.63 , 14.68)
6.10±3.13
(0.94  , 11.71)

0.664

S:	��
���
8.13±3.10
(2.09 , 13.34)

8.00±3.20
(2.09 , 13.34)

8.53±3.01
(4.10 , 12.55)

0.720

UI-NA
(mm.)

�2:
6.83±3.01

(-0.63 , 14.68)
6.97±2.99

(-0.63 , 14.68)
6.57±3.21
(0.94 ,12.55)

0.572

LI-NB
(mm.)

��
���
7.79±2.57
(0.72 , 13.96)

8.07±2.69
(0.72 , 13.05)

7.37±2.38
(3.42 , 13.96)

0.284

S:	��
���
6.79±2.47
(1.45 , 10.63)

6.95±2.48
(2.84 , 10.51)

6.28±2.61
(1.45 , 10.63)

0.593

�2:
7.50±2.57
(0.72 , 13.96)

7.69±2.65
(0.72 , 13.05)

7.16±2.42
(2.84 , 13.96)

0.345

��9	:#$%:$�����
���,�
������� (n = 62) : �YJ
 37 
� M�' 25 
�
��9	:#$%S:	:$�����
���,�
������� (n = 25) : �YJ
 19 
� M�' 6 
�
a  
�� 
	��VJ/J#(���8�� t-test (2-tailed)�"�2	�
��9	:/�2�'	�
L?^�YJ
1�"L?^M�'
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3. 4�	�)
�
2	�-���	N8 )1A
=�)C
�	�K	>
=�3�)1A)��(�	1��./�
A0�2	��182�������	
3�4
��
-��./�0��	)1A�182����H�2���	
3�4
��-��./�0��	

L:�%�#0����L&�$'�L#$'�
2�:1/�/	�
�"�2	�
��9	:#$%:$1�"S:	:$�����
���,�
   
�������R('�2: (/���
#$% 9-13) R('.M��VJ/J t-test ���� Mann-Whitney U test #(���LM	���� ?�
2	� 
2�:�-
,�
,����S���� (AH) 1�"
2�:'�2,�
,����S��������/	�������:1#�5$%#$% 1
(arch perimeter) .���9	:#$%:$�����
���,�
����������'�2	���9	:#$%S:	:$�����
���,�
�������
�'	�
:$��'�0�
�Y#�
�VJ/J#$% p-value = 0.002 1�" <0.001 /�:�0�(�� (/���
#$% 10) ���8���$7'�
?�2	�
��9	:#$%:$�����
���,�
�������:$���,�(L��7�#$%.�,����S�� (TSALD) :���2	���9	:#$%S:	:$���
��
���,�
��������'	�
:$��'�0�
�Y#�
�VJ/J#$% p-value = 0.002 (/���
#$% 11)  1�"?�2	�/0�1��	

,�
���/�(5$%���
��,�
��9	:#$%:$�����
���,�
�������L:�%�L#$'�����"���e���"R���^$� "
1�"��"(-�,����S���� (�"'" UI-NA) �'-	
	��S&#�
(���.�:���2	���9	:#$%S:	:$�����
���
,�
��������'	�
:$��'�0�
�Y#�
�VJ/J#$% p-value = 0.011 (/���
#$% 13)  56%
L:�%�L&�$'�L#$'���� !"
(�
��	�2R('1�	
/�:L?^  ?�
2�:1/�/	�
,�

2�:�-
,�
,����S���� 
2�:'�2,�
,�
���S��������/	�������:1#�5$%#$% 1 1�"���,�(L��7�#$%.�,����S��.���� !"#$%��	�2:�LW?�"
.�L?^�YJ
 �	2�.�L?^M�'?�
2�:1/�/	�
LW?�"��(�	2�,�
��������	�
/	����������
(anterior ratio) R('��9	:#$%:$�����
���,�
�������8":$��(�	2�(�
��	�2:���2	���9	:#$%S:	:$���
��
���,�
��������'	�
:$��'�0�
�Y#�
�VJ/J#$% p-value < 0.05 (/���
#$% 11)  

/���
#$% 9      /���
L&�$'�L#$'�
	�LW�$%' ± �	2�L�$%'
L��:�/�e�� 1�"?J��' ,�
��'9�"�2	�
��9	:
/�2�'	�
#$%:$1�"S:	:$�����
���,�
������� R('1�	
/�:L?^

L?^
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
��9	:��
���
(n = 62 
�)

��9	:S:	��
���
( n = 25 
�)

p-valuea

M�'
16.62±4.33
(10.92 , 31.50)

16.64±4.70
(10.92 , 31.50)

16.52±2.48
(14.00 , 20.17)

0.803
��'9 (&c)

�YJ

18.58±5.19
(11.50 , 35.92)

19.03±5.04
(11.67 , 35.92)

17.71±5.49
(11.50 , 33.08)

0.169

�2:
17.88±4.56
(10.92 , 35.92)

18.07±5.01
(10.92 , 35.92)

17.42±4.92
(11.50 , 33.08)

0.406

a    
�� 
	��VJ/J#(���8�� Mann-Whitney U test (2-tailed)�"�2	�
#$%:$1�"S:	:$�����
���
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/���
#$% 10 /���
L&�$'�L#$'�
	�LW�$%' ± �	2�L�$%'
L��:�/�e�� 1�"?J��',�

2�:�2��
,�
,�
���S�����	2����� (AAW) 
2�:�-
,�
,����S���� (AH) 1�"
2�:'�2,�
 ,�
���S��������/	�������:1#�5$%#$% 1 (arch perimeter)�"�2	�
��9	:/�2�'	�
#$%:$1�"S:	
:$�����
���,�
������� R('1�	
/�:L?^

L?^
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
��9	:��
���
(n = 62 
�)

��9	:S:	��
���
( n = 25 
�)

p-value

M�'
35.98±2.37
(29.62 , 40.64)

36.23±2.14
(31.45 , 40.64)

34.91±3.15
(29.62 , 38.81)

0.224a
AAW (mm.)

�YJ

35.17±2.72
(27.05 , 40.64)

34.66±2.90
(27.05 , 40.64)

36.16±2.07
(32.91 , 40.20)

0.050a

�2:
35.64±2.62
(27.05 , 40.64)

35.29±2.71
(27.05 , 40.64)

35.86±2.36
(29.62 , 40.20)

0.364a

M�'
17.94±2.72
(12.29 , 22.24)

17.72±2.76
(12.29 , 22.24)

18.89±2.51
(15.62 , 22.23)

0.350a
AH (mm.)

�YJ

17.49±1.90
(12.60 , 22.18)

16.83±1.65
(12.60 , 20.59)

18.77±1.73
(16.28 , 22.18)

<0.001a**

�2:
17.65±2.22
(12.29 , 22.24)

17.19±2.19
(12.29 , 22.24)

18.80±1.89
(15.62 , 22.23)

0.002 a **

M�'
73.46±5.94
(55.96 , 84.09)

72.82±5.12
(55.96 , 81.98)

76.15±8.69
(59.76 , 84.09)

0.080 b

�YJ

72.44±4.63
(61.66 , 82.73)

70.74±4.03
(61.66 , 77.47)

75.74±3.96
(67.97 , 82.73)

<0.001 a **

arch perimeter
(mm.)

�2:
72.80±5.13
(55.96 , 84.09)

71.58±4.58
(55.96 , 81.98)

75.84±5.24
(59.76 , 84.09)

<0.001 a **

a    
�� 
	��VJ/J#(���8�� t-test (2-tailed) �"�2	�
��9	:#$%:$1�"S:	:$�����
���
b  
�� 
	��VJ/J#(���8�� Mann-Whitney U test (2-tailed) �"�2	�
��9	:#$%:$1�"S:	:$�����
���
**:$
2�:1/�/	�
�"�2	�
��9	:#$%:$1�"S:	:$�����
���,�
��������'	�
:$��'�0�
�Y#$% p-value<0.01
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/���
#$% 11  /���
L&�$'�L#$'�
	�LW�$%' ± �	2�L�$%'
L��:�/�e�� 1�"?J��',�
��(�	2�,��(���
���� (anterior Ratio) 1�"���,�(L��7�#$%.�,����S�� (TSALD) �"�2	�
��9	:/�2�'	�

#$%:$1�"S:	:$�����
���,�
������� R('1�	
/�:L?^

L?^
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
��9	:��
���
(n = 62 
�)

��9	:S:	��
���
( n = 25 
�)

p-value

M�'
78.48±2.31
(73.59 , 83.53)

78.91±2.12
(74.02 , 83.53)

76.66±2.33
(73.59 , 79.30)

0.029a*
anterior ratio

�YJ

78.36±2.52
(72.55 , 84.36)

78.47±2.85
(72.55 , 84.36)

78.17±1.78
(74.08 , 81.28)

0.680a

�2:
78.40±.244
(72.55 , 84.36)

78.65±2.57
(72.55 , 84.36)

77.81±1.98
(73.59 , 81.28)

0.146a

M�'
-7.13±5.06
(-20.65 , 0.19)

-7.22±4.09
(-20.65 , 0.19)

-6.74±8.54
(-20.60 , -0.69)

0.230b
TSALD (mm.)

�YJ

-5.90±5.56
(-18.16 , 5.14)

-7.36±5.79
(-18.16 , 5.14)

-3.06±3.79
(-9.21 , 4.24)

0.005 a **

�2:
-6.34±5.39
(-20.65 , 5.14)

-7.30±5.14
(-20.60 , 5.14)

-3.94±5.34
(-20.65 , 4.24)

0.002 b**

a    
�� 
	��VJ/J#(���8�� t-test (2-tailed) �"�2	�
��9	:#$%:$1�"S:	:$�����
���
b    
�� 
	��VJ/J#(���8�� Mann-Whitney U test (2-tailed)�"�2	�
��9	:#$%:$1�"S:	:$�����
���
*:$
2�:1/�/	�
�"�2	�
��9	:#$%:$1�"S:	:$�����
���,�
��������'	�
:$��'�0�
�Y#$%p-value<0.05

 **:$
2�:1/�/	�
�"�2	�
��9	:#$%:$1�"S:	:$�����
���,�
��������'	�
:$��'�0�
�Y#$%p-value<0.01
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/���
#$% 12 /���
L&�$'�L#$'�
	�LW�$%' ± �	2�L�$%'
L��:�/�e�� 1�"?J��',�
�"'" A-Nperp
�"'" Pg-Nperp  1�":9: ANB �"�2	�
��9	:/�2�'	�
#$%:$1�"S:	:$�����
���,�

������� R('1�	
/�:L?^

L?^
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
��9	:��
���
(n = 62 
�)

��9	:S:	��
���
( n = 25 
�)

p-value

M�'
0.54±3.36
(-6.04 , 7.40)

0.52±3.41
(-5.28 , 7.40)

0.61±3.76
(-6.04 , 3.35)

0.689 b
A-Nperp (mm.)

�YJ

1.83±3.14

(-4.13 , 10.38)
1.92±3.46

(-4.13 , 10.38)
1.65±2.47
(-2.58 , 6.09)

0.760a

�2:
1.37±3.26

(-6.04 , 10.38)
1.36±3.48

(-5.28 , 10.38)
1.40±2.69
(-6.04 , 6.09)

0.959a

M�'
-2.91±6.73

(-17.19 , 10.19)
-3.17±6.92

(-17.19 , 10.19)
-1.82±6.38
(-11.79 , 4.65)

0.667a
Pg-Nperp (mm.)

�YJ

-0.79±6.45

(-10.75 , 20.37)
-1.02±7.30

(-10.75 , 20.37)
-0.34±4.51
(-9.64 , 7.98)

0.712a

�2:
-1.55±6.60

(-17.19 , 20.73)
-1.89±7.17

(-17.19 , 20.37)
-0.70±4.92
(-11.79 , 7.98)

0.449a

M�'
2.37±1.47
(0.00 , 5.00)

2.34±1.55
(0.00 , 5.00)

2.50±1.18
(1.00 , 4.00)

0.820 b
ANB°

�YJ

2.60±1.36
(0.00 , 5.00)

2.64±1.44
(0.00 , 5.00)

2.53±1.23
(1.00 , 5.00)

0.781 b

�2:
2.52±1.39
(0.00 , 5.00)

2.52±1.48
(0.00 , 5.00)

2.52±1.19
(1.00 , 5.00)

0.992 b

a    
�� 
	��VJ/J#(���8�� t-test (2-tailed)�"�2	�
��9	:#$%:$1�"S:	:$�����
���
b    
�� 
	��VJ/J#(���8�� Mann-Whitney U test (2-tailed)�"�2	�
��9	:#$%:$1�"S:	:$�����
���



34

/���
#$%   13  /���
L&�$'�L#$'�
	�LW�$%'    ±    �	2�L�$%'
L��:�/�e��   1�"?J��',�
:9:  UI  -  PP
:9: LI-MP �"'" UI-NA 1�"�"'" LI-NB �"�2	�
��9	:/�2�'	�
#$%:$1�"S:	:$
�����
���,�
������� R('1�	
/�:L?^

L?^
��9	:/�2�'	�
#�7
�:(

(n = 87 
�)
��9	:��
���
(n = 62 
�)

��9	:S:	��
���
( n = 25 
�)

p-value

M�'
119.28±6.84

(106.00 , 134.00)
119.03±6.77

(106.00 , 134.00)
120.33±7.67

(107.50 , 130.00)
0.682a

UI-PP°

�YJ

121.13±6.21

(110.00 , 133.00)
120.30±5.44
(111.75, 133.00)

122.74±7.38
(110.00 , 133.00)

0.167a

�2:
120.47±6.46

(106.00 , 134.00)
119.79±5.99

(106.00 , 134.00)
122.16±7.36

(107.50 , 133.00)
0.122a

M�'
95.61±5.16

(86.00 , 109.00)
95.71±5.42

(86.00 , 109.00)
95.17±4.34

(90.00 , 100.50)
0.599 b

LI-MP°

�YJ

95.06±6.77

(75.00 , 112.00)
93.82±6.44

(75.00 , 105.50)
97.47±6.90

(83.50 , 112.00)
0.055a

�2:
95.25±6.22

(75.00 , 112.00)
94.58±6.08

(75.00 , 109.00)
96.92±6.38

(83.50 , 112.00)
0.113a

M�'
6.57±3.21
(0.94 ,12.55)

6.10±3.13
(0.94 ,11.71)

8.53±3.01
(4.10 ,12.55)

0.096a
UI-NA (mm.)

�YJ

6.97±2.99

(-0.63 , 14.68)
6.44±2.77

(-0.63 , 14.68)
8.00±3.20
(2.09, 13.34)

0.063a

�2:
6.83±3.01

(-0.63 , 14.68)
6.30±2.90

(-0.63 , 14.68)
8.13±3.10
(2.09 , 13.34)

0.011a*

M�'
7.16±2.42
(2.84 , 13.96)

7.37±2.38
(3.42 , 13.96)

6.28±2.61
(2.84 , 10.51)

0.329a
LI-NB (mm.)

�YJ

7.69±2.65
(0.72 , 13.05)

8.07±2.69
(0.72 , 13.05)

6.95±2.48
(1.45 , 10.63)

0.135a

�2:
7.50±2.57
(0.72 , 13.96)

7.79±2.57
(0.72 , 13.96)

6.79±2.47
(1.45 , 10.63)

0.101a

a    
�� 
	��VJ/J#(���8�� t-test (2-tailed)�"�2	�
��9	:#$%:$1�"S:	:$�����
���
b    
�� 
	��VJ/J#(���8�� Mann-Whitney U test (2-tailed)�"�2	�
��9	:#$%:$1�"S:	:$�����
���
*:$
2�:1/�/	�
�"�2	�
��9	:#$%:$1�"S:	:$�����
���,�
��������'	�
:$��'�0�
�Y#$%p-value <0.05
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4.  4�	�3=�>=�?@
A0�2	�
�	)0�2�)1A1=�W�A-��-	�

H�
 -�	,./� )1A4�	�3=�>=�?@-��./�
T�)
21A-	�

H�
-��BS�Cb�N�����4�	�3=�>=�?@-��-	�

H�
)����� 1 �=�(�	���J��./�������	


3�4
��

/���
#$% 14   /���
1�(
/�21&�/	�
X #$%�0�:�2JL
��"�A
2�:V(V�'LMJ
?�9(�2'2J@$ stepwise

��9	:,�
,��:-� /�21&�
��'9 (&c),��:-�?�7�e��,�
��9	:/�2

�'	�
 L?^ (0 = L?^�YJ
, 1 = L?^M�')
�	2���"(-�R
�
����
 : �"'" A-Nperp (:J��JL:/�)

�"'" Pg-Nperp (:J��JL:/�)
:9: ANB (�
^�)

�	2�,�
��� : �"'" UI � NA (:J��JL:/�)
�"'" UI � NA (:J��JL:/�)
:9: UI � PP (�
^�)

/�21&�8�����2JL
��"�A
b�?��
�$�"R���^$� "
(���,��


:9: LI � MP (�
^�)
��(�	2�,��(���������-�	�
 (anterior ratio)

2�:�2��
,�
,����S�����	2����� (AWW)

2�:'�2,�
,����S��������/	�������:1#�5$%#$% 1 (arch perimeter)

/�21&�8�����2JL
��"�A
1��80���
���

���,�(L��7�#$%.�,����S��������/	�������:1#�5$%#$% 1 (TSALD)

L:�%��0�/�21&�/	�
X.�/���
#$% 14  :�2JL
��"�A
2�:V(V�'LMJ
?�9 (multiple
regression analysis) (�2'2J@$ stepwise R('.��80��2�5$%���#$%:$�����
���L&[�/�21&�/�:1�"
/�21&�.�/���
#$% 14  L&[�/�21&��J��"S(�I����2JL
��"�A#�7
�:( 11 /�21�� (models) (�
1�(

.�/���
#$% 19 .�b�
I�2� R('/�21��#$%:$
2�:L�:�"�:#$%�9( 
�� /�21��#$% 8 (�
��'�"L�$'(.�
/���
#$% 15 56%
L&[�/�21��#$%��:��V�@J��'
2�:1&�&�2�,�
&�J:�!5$%���#$%:$�����
���.�
��9	:/�2�'	�
#$%^6� �S(����'�" 42.7 (��:&�"�J#@J����/�(�J�.8LMJ
?�9 (adjusted R2) = 0.427)


2�:��:?��@A���,�
/�21&��J��"(�
��	�2��:��V/�28���S(�8��
	� tolerance
1�"
	� Variance Inflation Factor (VIF) 56%

	� tolerance 8"�'-	.�M	2
^-�'AV6
��6%
 R('���
	�
tolerance :$
	�L,��.��� 1 1�(
2	�/�21&�(�
��	�2���/�21&�/��#$%L����.�/�21��:$
2�:��:?��@A���
���' 1/	V��
	� tolerance :$
	�L,��.���^-�'A1�(
2	�/�21&�(�
��	�2���/�21&�/��#$%L����.�/�21��:$
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2�:��:?��@A���:�� 56%
.�#�
&�J��/JV��2	�
	� tolerance #$%���'�2	� 0.1 1�(
2	�/�21&�(�
��	�2
��:?��@A���/�21&�/��#$%L����55 56%
8"#0�.��
2�:�	�LM�%�V��,�
�:����(�
 1�"L��%�
8�� VIF =
1/tolerance 86
:$
	�/�7
1/	 1 V6
����/A (�
��7�V�� VIF :$
	�'J%
:��1�(
2	�/�21&�/����7���:?��@A���
/�21&�/��#$%L����LM	����55  8��/���
#$% 15 ?�2	�
	� Tolerance 1�"
	� VIF ,�
/�21&�/	�
X.�
/�21��#$% 8 :$
	�L#	���� 0.623-0.986 1�" 1.015-1.606 /�:�0�(�� 56%
�'-	.�M	2
#$%'�:���S(�2	�/�21&�
(�
��	�2S:	:$
2�:��:?��@A���L�
 1�"��:��V'��'��(�2'���2JL
��"�A����:?��@A�"�2	�
 2 /�21&�
(bivariate correlations) R('.M���:&�"�J#@J�����:?��@AL?$'�A��� (Perason�s correlation coefficient:
r)  (�
/���
#$% 20 .�b�
I�2�

�	2���L�/9#$%S:	L����/�21��#$% 9-11 56%
:$
	���:&�"�J#@J����/�(�J�.8LMJ
?�9�-
�2	�
L&[�/�21��.�����@J��'
2�:��:?��@A���&�J:�!5$%���#$%:$�����
��� L��%�
8��/�21&��"'"
UI � NA (:J��JL:/�) 1�":9: UI � PP (�
^�) :$
2�:��:?��@A���
	��,��
:��L:�%�(-8��
	� tolerance,
VIF 1�"���2JL
��"�A����:?��@A�"�2	�
 2 /�21&� (�
/���
#$% 19 1�" 20 .�b�
I�2�56%
?�2	�
�"'" UI � NA (:J��JL:/�) 1�":9: UI � PP (�
^�) :$
2�:��:?��@A����'	�
:$��'�0�
�Y#�
�VJ/J#$%
p-value < 0.01 R(':$
	���:&�"�J#@J�����:?��@A (r) L#	���� 0.757 (�
��7�I-�2J8�'86
/�(�J�.8L�����:
���1�(

2�:��:?��@A�"�2	�
/0�1��	
1�"��� !",�
,����S��1�"���.�I-�&j2'#$%:$
2�:
��:?��@A,�
,����S��1��#$% 1 ���80��2�5$%���#$%:$�����
���/�:/�21��#$% 8  (�
�$7

                     y  = 5.42 + 0.24(LI-NB) �0.35(ANB) � 0.19(UI-NA) - 0.05(arch perimeter)

L:�%�  y                                  
�� 80��2�5$%���#$%:$�����
���
        LI � NB (:J��JL:/�)   L&[��"'"#$%2�(8��&��'���/�(5$%���
�	�
����"��� NB 1�(

2�:'�%�

,�
���/�(5$%���
�	�
L:�%�L#$'�����"���e���"R���^$� "1�"��"(-�
,����S���	�


        ANB (�
^�)               
�� :9:#$%L�J(8��L���/�( NA 1�" NB 1�(

2�:��:?��@A,�
/0�1��	

,����S����1�"�	�


         UI � NA (:J��JL:/�) L&[��"'"#$%2�(8��&��'���/�(5$%���
������"��� NA 1�(

2�:'�%�
,�
���/�(5$%���
��L:�%�L#$'�����"���e���"R���^$� "1�"��"(-�
,����S���� R('.M�
	�LW�$%',�
���/�(5$%���
#�7
��
,��


         arch perimeter           L&[�
2�:'�2,�
,����S��������/	�������:1#�5$%#$% 1



37

8��,��:-�.�/���
#$% 15  1�(
.��L�U�2	�/0�1��	
,�
���������1�"��������	�

(�"'" UI-NA , LI-NB) 
2�:��:?��@A,�
,����S�����	�
 (:9: ANB) 1�"
2�:'�2,�
,�
���S��������/	�������:1#�5$%#$% 1 (arch perimeter) ��:��V�@J��'V6

2�:1&�&�2�,�

80��2�5$%���#$%:$�����
���,�
��9	:/�2�'	�
#$%^6� �S(����'�" 42.7 R('/�21&�#$%
2�:��:?��@A���
80��2�5$%���#$%:$�����
���:��#$%�9(L:�%�(-8��
	���:&�"�J#@J�
2�:V(V�'
	�:�/�e�� (Beta)  
��
/0�1��	
,�
��������	�
 (�"'" LI-NB) 1�"/0�1��	
,�
��������� (�"'" UI-NA) 56%
:$
	�
��:&�"�J#@J�
2�:V(V�'
	�:�/�e��L#	���� 0.634 1�" -0.623 /�:�0�(�� 56%
�:�'V6
80��2�5$%���
#$%:$�����
���:$
2�:��:?��@A���/0�1��	
,�
��������	�
.�LMJ
�2�1�"1&�I�I�����/0�1��	

��������� ��	�2
�� ��������	�
#$%�'-	.�/0�1��	
�����2	�&�/J 1�"���������#$%�'-	.�/0�1��	

.����J7�:���2	� 8":$R����L�J(��������	�
��
������������S(�:���2	����#$%�'-	.�/0�1��	

&�/J �	2�
2�:��:?��@A,�
,����S����-�	�
 (:9: ANB) ��:��V�@J��'���L�J(��������	�

��
������������S(�:��.����(����
�
:� (Beta = -0.513) R('#$%
2�:'�2,�
,����S����
����/	�������:1#�5$%#$% 1 .��:���8"��:��V�@J��'���L�J(��������	�
��
������������S(�
���'#$%�9( (Beta = -0.286) 1�"?�2	�
2�:1&�&�2�,�
80��2�5$%���#$%:$�����
���S:	��:?��@A
�����'91�"L?^,�
��9	:/�2�'	�
86
S:	V-�L����L,���-	�:���V(V�'

/���
#$% 15    /���
1�(
/�21��#$%S(����L����.M�1�(

2�:��:?��@A���80��2�5$%���#$%:$
�����
��� 8�����2JL
��"�A
2�:V(V�'LMJ
?�9 (�2'2J@$ stepwise

Collinearity
StatisticsModel

Adjusted R
square

B Beta p-value
Tolerance VIF

8  (constant)
    LI-NB(mm.)
    ANB
    UI-NA(mm.)
    arch perimeter

0.427 5.424
0.235
-0.349
-0.194
-0.053

0.634
-0.513
-0.623
-0.286

<0.001
<0.001
<0.001
<0.001
0.001

0.623
0.688
0.655
0.986

1.606
1.453
1.526
1.015


	��VJ/J#(��� F = 17.05 , p-value < 0.001
adjusted R square  
�� ��:&�"�J#@J����/�(�J�.8LMJ
?�9
B  
�� ��:&�"�J#@J�
2�:V(V�'
Beta 
�� ��:&�"�J#@J�
2�:V(V�'
	�:�/�e��
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5. 4�	�)
�
2	�
A0�2	�-�	������)1A-�	����H�2��./�0��	12	�3�4
��./�0��	�� ������C
�N����N�
(	��	
�+�4
	A0@)��(�	1��./�T�BS�Cb�N�����./�0��	12	�3�4
��./�0��	��-�	��,�N�

L:�%�L&�$'�L#$'�
2�:1/�/	�
,�
/�21&�#$%S(�8�����2JL
��"�A1��80���
���,�

��9	:/�2�'	�
#$%:$��������	�
��
������������,��
L($'2 80��2� 39 
� (M�' 17 
� �YJ
 22 
�)
R('1'�/�:L?^ ?�
2�:1/�/	�
LW?�"
2�:�2��
,�
,����S�����	2����� (AAW) (���#$%:$
�����
����'	�
:$��'�0�
�Y#�
�VJ/J#$% p-value < 0.01 (/���
#$% 16) 86
#0����#(���
2�:1/�
/	�
�"�2	�
(���#$%:$1�"S:	:$�����
���,�
�������.���9	:/�2�'	�
(�
��	�21'�/�:L?^    (�
/�
��
#$% 17  ?�2	�
2�:'�2,�
,����S��������/	�������:1#�5$%#$% 1  1�"&�J:�!���,�(?�7�#$%
����/	�������:1#�5$%#$% 1 ,�
1/	�"(���:$
2�:1/�/	�
����'	�
:$��'�0�
�Y#$% p-value = 0.01 1�"
0.02 /�:�0�(�� 1/	L:�%�#0����L&�$'�L#$'�
2�:1/�/	�
(�
��	�2R('1'�/�:L?^ 8"?�
2�:1/�
/	�
��� !"L($'2���LW?�".�L?^�YJ
L#	���7� �	2�.�L?^M�'8"?�
2�:1/�/	�
�'	�
:$��'�0�
�Y
LW?�"
2�:�2��
,�
,����S�����	2�����#$% p-value < 0.05
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/���
#$% 16 /���
L&�$'�L#$'�
	�LW�$%' ± �	2�L�$%'
L��:�/�e�� 1�"?J��',�
/�21&�#$%S(�8��
���2JL
��"�A1��80���
����"�2	�
��9	:/�2�'	�
L?^�YJ
1�"L?^M�'#$%:$��������	�

��
������������,��
L($'2

L?^�YJ

(n = 22 
�)

L?^M�'
(n = 17 
�)

p-value a

,��
#$%:$�����
��� 23.71±1.52
(21.69 , 26.96)

24.60±1.26
(22.08 , 26.91)

0.059
I��2:,��(���/�(1�"
���L,$7'2�� (:J��JL:/�)

,��
#$%S:	:$�����
��� 23.79±1.58
(21.81 , 27.25)

24.64±1.23
(21.77 , 27.12)

0.077

,��
#$%:$�����
��� 17.27±1.84
(12.93 , 21.59)

18.10±0.94
(16.10 , 19.78)

0.098

2�:�2��
,�
,�
���S����
�	2����� (:J��JL:/�) ,��
#$%S:	:$�����
��� 17.14±1.68

(14.12 , 21.14)
18.59±0.96

(16.73 , 20.27)
0.003**

,��
#$%:$�����
��� 35.08±2.44
(29.95 , 40.07)

36.07±3.44
(27.09 , 41.15)

0.300

2�:'�2,�
,����S��
������/	�������:1#�5$%
#$% 1 (:J��JL:/�) ,��
#$%S:	:$�����
��� 36.66±2.02

(31.08 , 39.77)
37.35±3.24

(28.87 , 42.40)
0.414

,��
#$%:$�����
��� -3.60±3.49
(-9.26 , 1.30)

-3.74±2.91
(-10.38 , 0.90)

0.895
&�J:�!���,�(?�7�#$%
����/	�������:1#�5$%#$% 1
(:J��JL:/�) ,��
#$%S:	:$�����
��� -2.11±2.49

(-7.61 , 3.18)
-2.53±2.98

(-10.22 , 0.46)
0.632

a    
�� 
	��VJ/J#(���8�� t-test (2-tailed)�"�2	�
��9	:/�2�'	�
L?^�YJ
1�"L?^M�'#$%:$��������	�

��
������������,��
L($'2 (n=39 
�)

**:$
2�:1/�/	�
�"�2	�
��9	:#$%:$1�"S:	:$�����
���,�
��������'	�
:$��'�0�
�Y#$%p-value <0.01
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/���
#$%   17   /���
L&�$'�L#$'�
	�LW�$%'    ±    �	2�L�$%'
L��:�/�e��    1�"?J��',�
���2JL
��"�A
1��80���
���,��
#$%:$1�"S:	:$�����
���,�
�������,�
��9	:/�2�'	�
#$%:$���
��
���,�
���������L?$'
,��
L($'2 R('1'�/�:L?^

L?^ ,��
#$%:$�����
��� ,��
#$%S:	:$�����
��� p-value a

M�'
24.60±1.26

(22.08 , 26.91)
24.64±1.23

(21.77 , 27.12)
0.738

I��2:,��(���/�(1�"
���L,$7'2�� (:J��JL:/�)

�YJ

23.71±1.52

(21.69 , 26.96)
23.79±1.58

(21.81 , 27.25)
0.313

�2:
24.09 ± 1.47
(21.69 , 26.96)

24.16 ± 1.48
(21.77 , 27.25)

0.351

M�'
18.10±0.94

(16.10 , 19.78)
18.59±0.96

(16.73 , 20.27)
0.049*


2�:�2��
,�
,�
���S�����	2�����
(:J��JL:/�)

�YJ

17.27±1.84

(12.93 , 21.59)
17.14±1.68

(14.12 , 21.14)
0.657

�2:
17.64 ± 1.55
(12.93 , 21.59)

17.77 ± 1.57
(14.12 , 21.14)

0.492

M�'
36.07±3.44

(27.09 , 41.15)
37.35±3.24

(28.87 , 42.40)
0.165


2�:'�2,�
,����S��
������/	�������:1#�
5$%#$% 1 (:J��JL:/�)

�YJ

35.08±2.44

(29.95 , 40.07)
36.66±2.02

(31.08 , 39.77)
0.029*

�2:
35.51± 2.92
(27.09 , 41.15)

36.96 ± 2.61
(28.87 , 42.40)

0.010**

M�'
-3.74±2.91

(-10.38 , 0.90)
-2.53±2.98

(-10.22 , 0.46)
0.222

&�J:�!���,�(?�7�#$%
����/	�������:1#�5$%#$%
1 (:J��JL:/�)

�YJ

-3.60±3.49
(-9.26 , 1.30)

-2.11±2.49
(-7.61 , 3.18)

0.045*

�2:
-3.66 ± 3.21
(-10.38 , 1.30)

-2.29 ± 2.69
(-10.22 , 3.18)

0.020*

a    
�� 
	��VJ/J#(���8�� paired t-test (2-tailed)�"�2	�
,��
#$%:$1�"S:	:$�����
���,�
�������
��9	:/�2�'	�
#�7
�:( (n = 39) ; ��9	:/�2�'	�
L?^M�' (n = 17)  ; ��9	:/�2�'	�
L?^�YJ
 (n = 22)
*:$
2�:1/�/	�
�"�2	�
,��
#$%:$1�"S:	:$�����
���,�
��������'	�
:$��'�0�
�Y#$% p-value <0.05
**:$
2�:1/�/	�
�"�2	�
,��
#$%:$1�"S:	:$�����
���,�
��������'	�
:$��'�0�
�Y#$% p-value <0.01
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1:�I����L&�$'�L#$'�,��
/��8"1�(
.��L�U�2	�
2�:'�2,�
,����S��������/	�
������:1#�5$%#$% 1 1�"&�J:�!���,�(?�7�#$%����/	�������:1#�5$%#$% 1 �"�2	�
,��
#$%:$1�"S:	:$���
��
���,�
�������:$
2�:1/�/	�
����'	�
:$��'�0�
�Y 1/	L��%�
8��&�J:�!���,�(?�7�#$%����/	�
������:1#�5$%#$% 1 ��7� 
�� 
2�:'�2,�
,����S��������/	�������:1#�5$%#$% 1 ��(�2',��(���
#9�5$%����/	�������:1#�5$%#$% 1 56%
�2:V6
���/�(1�"���L,$7'2#$%#(���.����^6� ��$7#$%S:	?�
2�:
1/�/	�
����'	�
:$��'�0�
�Y�"�2	�
,��
#$%:$1�"S:	:$�����
���,�
�������(�2' 86
L&[�S&S(�#$%
&�J:�!���,�(?�7�#$%����/	�������:1#�5$%#$% 1 ,��
#$%:$1�"S:	:$�����
���,�
�������1/�/	�

���8�����#$%
2�:'�2,�
,����S��������/	�������:1#�5$%#$% 1 1/�/	�
���L?$'
�'	�
L($'2 ����
��8L�J(8��I��2:,��(������:���',��
#$%:$1�"S:	:$�����
���,�
�������1/�/	�
���(�2' 
86
#0����L&�$'�L#$'�I��2:,��(���/�( ���L,$7'2 1�"������:���'L?J%:L/J: (/���
#$% 18) 56%
?�2	�
S:	:$
2�:1/�/	�
����'	�
:$��'�0�
�Y#�
�VJ/J 86
��9&S(�2	�,��
#$%:$�����
���,�
��������	�
:$
&�J:�!���,�(?�7�#$%����/	�������:1#�5$%#$% 1 :���2	�,��
#$%S:	:$�����
��� L��%�
8��:$
2�:'�2
,�
,����S��������/	�������:1#�5$%#$%��6%
���'�2	�

/���
#$% 18  L&�$'�L#$'�
	�LW�$%' ± �	2�L�$%'
L��:�/�e�� 1�"?J��',�
,��(����"�2	�
,��
#$%:$
1�"S:	:$�����
���,�
�������

,��
#$%:$�����
���
( n=39 
�)

,��
#$%S:	:$�����
���
( n=39 
�)

p-value a

I��2:,��(���/�(1�"���
L,$7'2��  (:J��JL:/�)

24.09 ± 1.47
(21.69 , 26.96)

24.16 ± 1.48
(21.77 , 27.25)

0.351

I��2:,��(������:���'5$%#$%
1 1�" 2 (:J��JL:/�)

15.75 ± 4.16
(27.09 , 41.15)

15.08 ± 0.83
(28.87 , 42.40)

0.313

I��2:,��(���/�( ���L,$7'2
�� 1�"������:���'
(:J��JL:/�)

38.57 ± 4.32
(27.09 , 41.15)

39.22 ± 2.15
(28.87 , 42.40)

0.311

a   
�� 
	��VJ/J#(���8�� paired t-test (2-tailed)�"�2	�
,��
#$%:$1�"S:	:$�����
���,�
�������


